2019%F4A5H E#A 2}#&

RiE. TR AR HR
T by

eEifEREXR HIWMIHMRALR

A#HicE RAR

£ 2R E]

]

s osTn ey — + ‘
A e \ * ARG FR S ERA
i Gy BinEsmesukane e, (RN L L
i [l 20RO, DL s N ST R = AR RARIT
i W EOVEOE TR nth 5 g s Y T RS R
v, e sk —maEEE . B 8 m B mar s 5% dr b or T a2
WS W i s L e L e[| O R A E SRR AR LA
S W s Rk A T, )| g JPTR EEAGE R SRR,
BB BT R L TATE T, & BT HE A AT kR R Kk
R : " S EMEENE — = — kAR CE T E LS R
f{f*ﬂiﬁﬁ? RimEEBL ey AR (R LS FEAO & B R A K HLE B R AT
ARBEHAZER B ;ﬁ;ﬁ;@ﬁfs(gfgﬁyﬁ*gﬁﬁfg%ﬁf o R SRR,
A - R eSS E . D SRR, 5 N R ok .
DT N e T R FHARAAL S 6 F %5, 2
2019 4, R A2 By & F Ao 3% 3% 7 & ALK B 5T A BR — I T TR FEERES RIS . Ak 15 48R A E A D IRAL R RIS
O 5 S ARG, A AR XA A A EEAT TR I HE T E K A A R R B4 5 %
TR E AL, A BB RE AR, B A% e I e
S MIF R TR AR R 6 55 K TR R 4 TREFREES — * & BTAE B R AR BARIE K
Ak, RHAA AR AR SIS FLET A 20194, PRI TSI P IX (e )k RAAE G R B R F 7 E, AR
MR4 B E, B A IR B R K A Bk K 1E55 4000 2 (P ARG BE A2 5TIE FR RS 200 EEN
2 IR A A M S RS TR R ‘ , o
. N 20 47 4 ) A By T A2 % ALK
HEHE RN B AR — * D
P38 e DS T/ B, I g SR AT ;

A A B2 B HeE SRVl A4 e

304 I S SRR 4 ST RS ‘

26% | R LS TR - a7
g || PR THIESE AN BRI T DDs% T,

s | | Bk ETEE o | A TR PR R SE A I TR

HTE kg | NERE

ZnG itldr BiHh

AWM I H, TAHRE 7RISR H
FESERBIL, IS T TR B s T AR B
LU EREIYE?

MEF BRI, S A H/ v A
VINTEN= - evi i 150 A S DT S

ERHIEEARIE RAKRR=E

A FRATALE R R S R BUH IR AT 0 KR AL R & AN TR 3SR B ) de RAR
AR B Gl E R B AR AR KA IR R F I EL L RS EE AT

2 KA LA K A6 B K R A, R R AR B R SRS, R R IR T, FHETF, FETRE, SR PG S &6 ;|:§

I8 T PR IR At ARERILER
B TR =T i A PR AR 25 7K P
5.

WM R P2 EIm i (BRER

R IR G547 I A Ak, H A PR GG BR8] R AR R AR &S A R B b S AR A
A,

AW T SR

W IR R SE AR s R 8000 WRIR . 78 o W AR 5 i Bl

TSR A 1.231(7.70, SER A
HFRES 9 20.5% ; S28L LA TFEE
HE13.961770, AL 8.1%, 52
B4 BRRMESS 0 23.26% ; FITT5E
B — M A LTI A 3600 5 76 (K~
SRR, I EE RS 47.13%, 52
At HRRMES 19 22.5%,

2018 2209 FEFRATE T
4 TALIRE PSR 8.15 17,
JCo HBT, BHEE 52{ZI0HIVRE
TR SR A IR E |, BSEBR
A 27,70 (HE A R 274 7000
KoL), —lE] BB SERIE &%
BT B R 1120
FITATRY A PR T =T E , Al
EL5E Rl — g PR R R L H R
P S e PR M TE AR S

T TLHIR EAE A A 5
WiH, HETE 58 P HuE , IE7E
LR 5 IR BT 1.05{ZTT
RIREM AT , FRTIELE
TR, it 5 BT L. #iE3
R, fR B 2490 214>, v
WEIR BTy 42T,

N2, SRR B R 4%
PSR TR GUBTER TR " I TR
KRR S AR, R R
o R A PR, R R FR ARIIZY
HEse A FEnhRE RIT A ETR, &
T HERD L B ek 2 i B P i A i o
AR B X IR L ) s
HERR , 73 28 1l PR B DS IR R %
73 %, R R LR A 2R
R, T AR AR

9.2 T V5K Z BRI B, In5&
=R AR E LR,
P — 2P 4 v 1 R G VB R R
Mo dE—pRMAIRS BN, BE
Tt e 2t U AL, T PR 25 29 TR
Bt T R TIiH Bk, 42
T PRI DX R 13 2 T H TE TR
FIT R 2 2E , B B B o 0t
HE R, R PLKh ST AR A FE R A
A8 77 Al i B8 AT 42 R B 51 4
NSRS I 4R R R MY
M SRR 5, B IR IR SR ik
B, RS BUME ST R R LS
o SRR TR
EEATEE A s o S TTER )
ik,
RAE

KXETE_BESEZEMNK

AWM 4 H2H B4, KX
B mIBFERAE RIS (REA
121.45 B5) 2847, 9O NI 4= 5 & T4
fEE R BB R R AT
HEZE

BT, 2ERXH 46
28, SRR 5 61, EEEXFEN
T, IEEE R R
2R T AL AN LESEW
G =t AOF (IR R V2 SRS A ]
2)t . M7, BEOOT SR TEZEN

INAEEE— PR, IR & s X
HEfT e AR SR (A S 2 T /RS
INFIRAT) , TR S G 2ER
FFIANIE 2000 T (#1E 4 2015 451
A1HEEMHNESREER). |
BT, ALEEZEE R KA R IR
R B RIS e N 2 K R
I || IR AR [ g 2R 2] i
o ATERERNRIETESE S, S
TR B X 2 T i 2P
LR A A el &5 — AR,

FIKE S S AT DA 2 258
wEEFTEIN.

S KRB & EEE
Kt — P IR EE RS 05
B SR D PP S @2i&
BE R RS T HIZR IR AR Sk 1Y
RFETTIA, BBFF N AR 7
/INEUE SRS R B2 L
B, HESh S A= AR 2

e Hesk

ted) B EEREF N A, BRE EEA
%, 6 248 E TR NGUBLIF 06 0 A TR ok &
AT RGN DAFM, TEAR B HE
BT RS E M. AR R e B
T AE A5G, A E SR K i RS Ay
JHEDE, N T R TR A 25 Al ot
XA

B T RE DA, AR R ET AN R
P 8 i P AR O 2, B PR 22 2R T AR
EONPAINT NS e LS TIN E/S (=R = iy =y
HIR A WK, FEATAIAEFALLE T
HAPP, LI A E B DAL FEN .

[FFELED AR IS B/ N B N, A
N IEAERS 24 R ARSI E R TR RE , i A7
FIREURAEN . R BEE AT ANA, R
B A P O LI, R AR 2 bR
R4, BRERERN G E R+ VN, 1
H%A#EEE B E RS 0Cc—6CHIEIR

RROEZ TR R AR ERNED TR
o DXARIREER NN 5 R T 2[R
HUBE &, BB S E AR B, el B e
21500, L[ 8 B PR R R R, &
R T WEAT 24 VAR

% 50 I B

2

= 5t it

> 2 AAHE

|



